
134472900 0411 

STACKING INSTRUCTIONS 
Tumble Action Washer/Dryer 

 
            To reduce the risk of electrical shock, disconnect this appliance from the power supply 
before attempting any user maintenance. Turning the controls to the OFF position does not disconnect this 
appliance from the power supply. 
 
 
            Refer to the washer and dryer installation instructions packed with each appliance prior to 
stacking appliances. Reading all of the information contained in these instructions will simplify the installation 
and ensure a correct and safe operation. A fire hazard and/or personal injury could result from improper 
installation. 
 
TOOL & EQUIPMENT REQUIREMENTS: 
  1. Phillips screwdriver. 
 
KIT COMPONENTS 
     1 - Installation Instructions                 
 
     2 – Plastic rear brackets        6 – #10-16 x .375 inch screws 

        
 
     1 – Front spacer                                

      
 
A.  Install Rear Brackets and Front Support Spacer 
 
1.  Install two (2) rear brackets with four (4) #10-16 x .375 screws on 
     rear of top panel as shown (Picture 1).  

                         
                                            Picture 1 
2.  Clean front portion of top panel with isopropyl alcohol to prepare  
     surface for front spacer placement (Picture 3). 
    
3.  Peel off backing of tape on the bottom side of the front spacer. 
     Place spacer on the top panel, lining up the rear edge of each slot 
     in the spacer with the seam between the top panel and console as 
     shown (Pictures 2 & 3). 
 

       
                      Picture 2                                Picture 3 
 
 

 
 
B. Stack the Dryer 
 
1.  Have two or more people lift the dryer onto the washer.  While 
    supporting the front of the dryer, carefully push the dryer back until 
    the rear legs slide into the two (2) rear brackets (Picture 4). 

 

                            
                                        Picture 4 
 
2.  Lower the front legs into the front spacer as shown (Picture 5). 

 

                         
                                         Picture 5 
 
3.  Install two (2) #10-16 x .375 screws through the tab on the front 
     spacer and into the hole in the service panel bracket as shown 
     (Picture 6). 
 

                         
                                          Picture 6 
 
C. Washer and Dryer Operation 
 
Refer to the washer and dryer installation and operating instructions for  
proper installation and operation.  

WARNING

WARNING



DIRECTIVES DE SUPERPOSITION
Machine à laver par culbutage/sécheuse

 Pour réduire les risques
d'électrocution, débrancher cet appareil de sa source
d'alimentation avant de tenter toute mesure
d'entretien. Il ne suffit pas de fermer toutes les
commandes (position «off») pour couper l'appareil
de son alimentation.

 Se reporter aux notices
d’installation qui accompagnent la laveuse et la
sécheuse avant de tenter de superposer ces
appareils. La lecture de tous les renseignements
contenus dans ces notices simplifie l’installation et
assure le fonctionnement correct et sécuritaire des
appareils. L’installation incorrecte des appareils peut
entraîner des risques d’incendie ou de blessures.

INSTRUCCIONES PARA APILAR
Lavadora de acción giratoria/Secadora

 Para reducir el riesgo de
descargas eléctricas, desconecte este
electrodoméstico del tomacorrientes antes de tratar
de hacer cualquier mantenimiento por parte del
usuario. Mover los controles a la posición de OFF
(apagado) no desconectará este electrodoméstico de
la red eléctrica.

 Lea las instrucciones para la
instalación de la lavadora y de la secadora incluidas
con estos electrodomésticos antes de apilarlos. Si
lee toda la información contenida en dichas
instrucciones, la instalación le resultará más sencilla
y garantizará así el funcionamiento correcto y
seguro. Una instalación incorrecta puede dar lugar a
un riesgo de incendio y/o lesiones personales.

OUTILS ET MATÉRIEL REQUIS 
1. Tournevis à pointe cruciforme.

HERRAMIENTAS Y EQUIPO NECESARIO
1. Destornillador/desarmador Phillips (de estrella).

COMPOSANTS de KIT
1 - instructions d’installation
2 - parenthèses arrière en plastique
6 - vis de pouce de .375 de #10-16 X
1 - entretoise avant

 A. Installez les parenthèses arrière et l’entretoise
avant de soutien
1. Installez deux (2) parenthèses arrière avec quatre (4) vis de
.375 de #10-16 X sur l’arrière du panneau supérieur comme
montré (image 1).
2. Nettoyez la partie avant du panneau supérieur avec de
l’alcool de isopropyle pour préparer la surface pour le
placement avant d’entretoise (image 3).
3. Épluchez outre du support de la bande du côté inférieur
de l’entretoise avant. Placez l’entretoise sur le panneau
supérieur, alignant le bord arrière de chaque fente dans
l’entretoise avec la couture entre le panneau et la console
supérieurs comme montré (images 2 et 3).

B. Empilez le  secheuse
1. Faites soulever à deux personnes ou plus le  secheuse sur
la laveuse. Tout en soutenant l’avant du  secheuse, repoussez
soigneusement le  secheuse jusqu’à ce que les jambes arrière
glissent dans les deux (2) parenthèses arrière (image 4).
2. Abaissez les jambes avant dans l’entretoise avant comme
montré (image 5).
3. Installez deux (2) vis de .375 de #10-16 X par l’étiquette
sur l’entretoise plan et sur le trou dans la parenthèse de
panneau de service comme montré (image 6).

C. Opération de  laveuse et de  secheuse
Reportez-vous aux instructions d’installation de la machine à
laver et de la sécheuse pour l’installation et le mode de
fonctionnement appropriés.

COMPONENTES del KIT
1 - instrucciones de instalación
2 - soportes posteriores plásticos
6 - tornillos de la pulgada del .375 de #10-16 x:
1 - espacidor delantero

A. Instale los soportes posteriores y el espaciador
delantero de la ayuda
1. Instale dos (2) soportes posteriores con cuatro (4) tornillos
del .375 de #10-16 x en parte posterior del panel superior
según lo demostrado (el cuadro 1).
2. Limpie la porción delantera del panel superior con el
alcohol isopropilo para preparar la superficie para la
colocación delantera del espaciador (cuadro 3).
3. Pele del forro de la cinta en el lado inferior del espaciador
delantero. Coloque el espaciador en el panel superior,
alineando el borde posterior de cada ranura en el espaciador
con la costura entre el panel y la consola superiores según lo
demostrado (los cuadros 2 y 3).

B. Apile el secadora
1. Haga que dos o más personas levanten el secadora sobre
la lavadora. Mientras que apoya el frente del secadora,
empuje cuidadosamente el secadora detrás hasta que las
piernas posteriores resbalan dentro de los dos (2) soportes
posteriores (cuadro 4).
2. Baje las piernas delanteras en el espaciador delantero
según lo demostrado (el cuadro 5).
3. Instale dos (2) tornillos del .375 de #10-16 x a través de la
lengüeta en el espaciador delantero y en el agujero en el
soporte del panel del servicio según lo demostrado (el cuadro
6).

C. Operación de la  lavadora y del secadora
Refiera a las instrucciones de instalación de la secadora y la
lavadora para la función e instalación apropiada.

PN 134472900 0411


